oO0O0O00I100 #100 2006714 00

3.4

g

gooo

3.15 U,V Oooooooooobu oo viooooroogo 200000000000

000 (linear map) 0000
(1) 000 w,veU 000 T(u+v) =T(u)+ T (v)
(2) D00 veUODO0 aeR 000 T(av) = aT(v)

0316 (1) U=v=RO0O0OD0OO0O0OOOOOOOOOOOOOOOOOOTOUOOVO

000000000000 « 0000000000 2000 y=T(x)=axO000000O
goooooooooooobobooobooboooo

cosf) —sinf

U:V:RQDDDA:< )DDDDDDDDRQDDRQDDDDTAD

sin 6 cos

Ta(x)=Az 0000000740 R?200 R?200000000000000000000
oo eOOOoooooooon

X
U= y | eR3|24+y+2=030V=R200007:U—R?D

000000 TOOOO (projection) 00000000 OOOOO

T:R R3O0 00000 60000000000000000000000w0 v0O0
000 400000000000000000 u+v00000000 400060000
00000004000 T(w) O T(v) 00000000000000000 T(uw) 4+ T(v)
00000000 u+v0 000000 T(u+v)0000000 T(u+wv)=T(u)+T(v)
000000000 T(aw)=aT(v) 000007 000000000

a

DD(2)DDDDDDDDDDDDDDA:<
c

b
)DDDDDDDDDDDDDD

Ta(z) = Az 000000 R?200R?2000000000000000000000O0
ooooooobo ADoooooooooooo

000 mnpnO0000U=R",V=R"O0000(m,n)00 A0 100000000 A0
0000 T4:U—VOTy(z)=Az 00000007, 000000000 00 7,00
0 ADD0DOOOODOOOOOOO

0000000000000000000 http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000
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0000814 T:U—VOO0O00D000000000 T(0)=007(—x)=—T(x) 000
0ooooooo

03160 () 000000000 O0O0OOODOOO

00 3.17 R"00 R™OUO0O0OOO0 TO0OO (mn)00 ADODOODOOOODOOO z€eR™
000 T(x)=Az 0000

o0 OdOi(i=1,...,n)000 e;=(6;;) 000000 ¢, 000000000007 (e;) 0 R™
ai;

a2i

O00O0oUooooooo T(e) = ] 000000 A= (a;)00000000000
Qi
T
xr = odd e=z1e1+---4+x,e, OOOOOO
Ty
T(x) = T(zie1+-- +axne,)

= T(e1)+ - +z,T(en)

a11 A1n

a21 a2n

am1 Qmn

oopooooooooo

00317000 AODDODOOOO 70000000000 WOR*O0O00000000000
00000000000
000000000 (000D0)00000000000®0

00 318 TOR"O0OR™"OOOO0O0O0O0SOROOR*OOOOOOOOOODOO 3170
000 T0O000O0O0O00 AD0OO SO0U0O0O0O000 BOOOOUOO ToS (WOooOo)OOo
O00o0oQoboO ABODOOO

gboo 3.15 00 318000000

0000 3.16 TOROOR*O0000003000000000 00000600000
gbooboooobooboobobooooob roboooooboooon

D0 ADODOOO TOODOODODODOODOOO AQDODOOOOOO
pOoOOo00O0000000000000000000000000000000000000000000000
ooooooooooboo
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0000 317 TOOODODOOOUOOOOO0O00O0VOOO0O0O0O00000VOO0000
xy,...,x, 000 T(x),...,T(x,) 0 10000000x,,...,2,0 1000000000000

000000000000000 70000000 @,...,2,0 @y,...,2,0 100000
007 (x),...,T(z,) 0 1000000000000

OO0 319 U,voooooooooorbovoovioooooooooooooo
n(T) = {y € V| y = T(z),x € U}
00000 TOO (imarge)y 000000
ker(T)={xecU|T(x)=0}
00000 700 (kerne) D000 Im(T) <V, ker(T) < U 00000 (— 0000 3.18)0

0000 318 7TOOOOOOO0UOO0OO000000 VOOOOOO0O00000 Im(T)<V,
Ker(T)<U ODOOO

0 3.20 A0 (m,n) 000000000

Ker(T4y) = {ze€R"| Az =0}
Im(Ty) = {yeR"|y=Az,x cR"}
1 2 3 4 T
5 6 7 8 Y
0000000000000A= Ub00xz = goooooao
9 10 11 12 z
13 14 15 16 w
Ker(T4), Im(T4) 00 000000000000 Az =00 400 10000

r+2y+3z+4dw =
Sx+6y+T7z+8w =
9z + 10y + 112 4+ 12w =

o O O O

13z 4+ 14y + 15z + 16w =

0000o0oo0000ooono 200000
r—z—2w = 0
y+2z24+3w = 0

000000000000000 2,90 2,w0000 z2=2+2w,y=-2:—3w 0000000

T
Y
T = eKer(Ty)OOO
z
w
z 4 2w z 2w 1 2
—2z — 3w —2z —3w -2 -3
T = = + =2z —+ w
z z 0 0
w 0 w 0
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gboooobgn

T 1 2
Y 4 -2 -3
Ker(Ty) =< = eER* |\ z—2-2w=0,y+22+3w=0 ) = E 0
z
w 0 1
oooo
X T
Y Y
Y= 7 , T = 0000y 000 y=Az0000000 «t000D00O0OO0OO
z
w w
O0od00odooooDoooooooonoooooooa
r4+2y+3z+4w = X
S5c+6y+T724+8w =Y
9z 4+ 10y + 112+ 12w = Z
13z 4+ 14y + 152+ 16w = W
1 2 3 4 X 1 2 3 4 X
5 6 7 8 Y 4 4 4 4 Y- X
oo A= ooooooad oo
9 10 11 12 Z 000 0 X-=-2Y+7
13 14 15 16 W 0 00 0 2X-3Y+W
0000bOOoooOOoooOoooooag
X-2Y+7=0, 2X-3Y+W=0
O000yeIm(T4) OO0
X X X 0 1 0
Y Y 0 Y 0 1
Z -X+2Y -X 2Y -1 2
w —2X +3Y —2X 3Y -2 3
ooooog
X 1 0
Y 4 0 1
Im(Ia) =< y= 7 ER* | X -2Y+72=0,2X-3Y+W=0, = L e
w -2 3
oooo
ooood 3.19 0000 AOOO0O T4, 00 Ker(Ty) U0 Im(Ty) ODOO OO
1 10 1 -1 1
(1) A= 1 2 0 (2)A=]| 3 2 8
1 3 0 2 1 5
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1 2 3
2 3 4 23
3) A= 4) A= 3 4
Ba=|. ", )
3 4 6
4 5 6
0 0 0 1 0 1 0 1
0 0 0 O 1 0 01
(5) A= (6) A=
0 0 0O 0 011
0 0 0O 1100
1 2 3 4
0 0 0O
000 0 2 3 4 5
(7) A= ®)A=|3 4 5 6
0 0 0O
4 5 6 7
0 0 0O
5 6 7 8

ooog *3.20 TOODODOODOOouUuobOOooOoooo voobooboooooooo
dim U = dim Ker(T) + dim Im(7T’)

0000000000000: Ker(T)0O0OO Im(7) 00000 UOO0O0000000Ker(T)
0000 wy,...,u,0m(7) 0000 vy,...,0,00000 v, 000 T(w;)=v;, 000000
0w, 00000000 wy,...,uwy,...,w, ] UDDO000000000

00 3.21 000000 UO0O0000OOO0 VOODOODOO 70000®0000 700000

(isomorphism) 00 002000000000000000000OO0 U0 VOOO (isomorphic)

oooobooou==voooo
vovioDooooDOdimU =dmV O00000000DOO0OODOOOODOOOO

03160000
(1) «#£00000000000000000000

(2) T,000000000

(3) TOOOOOOODO

(4 TOOOOOOODOO

(5) ad—bc#£0000 T, 000000ad—be=000000000000

(6) m#n00000000000000m=n0000A000000000000000
00000000000000000 (5)0()0000000000®0

0000 321 (50(6)0000000000000000
0000 3.22 000O07T:U—VOOOOO0OOO0OO0O0O0000 Ker(T)={0}000000
000

() 000000000000 0000000000f: X—Y 00000000 1,22 € X 000 f(z1) = f(x2)
00 z1 =22 00000000000 yeY OO0 y=f(¢) 0000 € X 000000000000000000
oooooooo

@oooooooD Ioooooo
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